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Greneral Instructions :
Read the following instructions very carefully and strictly follow them

(i}

fii)
(ifi)
(i)
(v)

(i)

This question paper comprises four sections — 4, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : (). No. | to 20 comprises of 20 guestions of one mark each,
Section B ; Q. No. 21 to 26 comprises of 6 guestions of twe marks each.
Section C: Q. No. 27 to 34 comprises of 8 questions aof three marks each.
Section D Q. No. 35 to 40 comprises of 6 questions of four marks each,

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark each, 2 questions of twa marks
each, 3 questions of three marks each and 3 questions af four marks each. You
have to attempt only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary,

Use of caleulators is not permitted.

SECTION - A

Q. Nos. 1 to 10 are multiple choice questions. Select the correct option.

1.

2.

The median and mode respectively of a frequency distribution are 26 and

29, Then its mean is 1
(g) 27.5 (b) 24.5 (c) 28.4 (d) 25.8

If the distance between the points A(4, p) and B(1, 0) is 5 units, then the
value(s) of p is (are) 1
(a) 4 only (b} —4 only (c) 4 (d) O

The graph of a polynomial is shown in Fig. 1, then the number of its
ZEroes 1s 1

Fig, 1 . /\ /

w_}.-l
(a) 3 {b) 1 {c) 2 (d) 4

.430/1/3, 3 P.T.O.
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4.

9,

10.

235 is
{a) an integer {b) a rational number
(¢} an irrational number (d) a natural number

HCF of 144 and 198 is
(a) 9 (b} 18 (€) 6 (d) 12

The probability that a number selected at random from the numbers
1,2, 3, .. 15 is.a multiple of 4 is

4 2 l |
(a) =3 (b) % ©) 13 (d) z

225 can be expressed as
(a) 5x3° (b) 5%x3 (c) 5%x3 (d) $x3

QF is a tangent to a circle with centre O at a point P on the circle. If
A OFQ is isusceles, then Z00P equals.

(a) 307 (b} 45° (c) 60° (dy 20°

If o and i are the zeroes of the polynomial x* +2x+1, then Ei-"hl% is
equal to

(a) -2 (b) 2 (e) O (d) 1

The coordinates of a point A on y-axis, at a distance of 4 units from x-axis
and below it, are
(a) (4,0 (b} (0,4) (c) (-4, 0) (d) (0,—4)

In Q. Nos. 11 to 15, fill in the blanks.

If the equations kx—2y=3 and 3x+y=5 represent two intersecting
lines at unigue point, then the value of & is
Or

If quadratic equation 3x° —4x+ k=0 has equal roots, then the value of
k15

-430/1/3. 5 P.T.0O.
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12,

13.

14,

15.

I B (A+B) =3 and tan{h-ﬂ}:%* A>B,. theo.the, valug of A

is

The perimeters of two similar triangles are 25 cm and 15 cm respectively,
If one side of the first triangle is 9 em, then the corresponding side of
second triangle is

If the point C{k, 4) divides the line segment joining two points A(2, 6) and
B(5, 1) in ratio 2:3, the value of k is

Or
If points A(-3, 12), B(7. 6) and Cix, 9) are collinear, then the value
of x is

Ifecotb= %+ then the value of sin 0 is

In Q. Nos. 16 to 20, answer the following,

17.

18.

19.

20.

The nth term of an AP is (7 — 4a1), then what is its common difference?

If 5 tan @ = 3, then what is the value {}f[55iﬂﬁ—3ﬂﬂ5-ﬂjq

dsinf +3cosh )’

The areas of two circles are in the ratio 9:4, then what is the ratio of their
circumferences?

If'a pair of dice is thrown once, then what is the probability of getting a
summeof 87

The areas of two similar triangles ABC and PQR are 25 cm® and 49 em?
respectively. If QR = 9.8 cm, find BC.

A430/1/3. 7 P.T.O.
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SECTION-B

Q. Nos. 21 to 26 earry two marks cach,

21,

21,

24,

25,

26.

Prove that l—:ﬂ,ﬂﬁ=£ﬁ: B -tan 6.
V1+sind

Or
an’0  cot’® _
I+tan® 1+ cot2@

Prove that

Two different dice are thrown together, find the probability that the sum
of the numbers appeared is less than 5.

Or
Find the probability that 5 Sundays occur in the month of November of a
randomly selected vear.

A bag contains 5 red balls and some blue balls. If the probability of
drawing a blue ball at random from the bag is three times that of a red
ball, find the number of blue balls in the bag,

The radii of two circles are 19 cm and 9 cm respectively. Find the radius
of a circle which has circumference equal to sum of their circumferences,

Divide the polynomial 1652 + 24 +15 by (4x+3) and write the quotient
and the remainder,

If tangents PA and PB drawn from an external pont P to a circle with
centre O ar¢ inclined to each other at an angle of 8(°, then find Z£POA

SECTION - C

Q. Nos. 27 to 34 carry 3 marks each,

7.

Draw a circle of radius 4 em. From a point 7 ¢m away from the centre of
circle. Construct a pair of tangents to the circle,

Or
Draw a line segment of 6 cm and divide it in the ratio 3:2.

l-"

-430/1/3, 9 6
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28. me:that{l+tanA~sncA}x{1+tanA+5ecA]=2umA 3
Or
Prove that —S05¢¢8 _ _cosecf) =2sec? @l

cosecB -1 cosecf+]

29. Given that v3igan irrational number, show that (5+1ﬁ } is an irrational
number, 3
Or

An army contingent of 612 members is to march behind an army band of
48 members in a parade. The two EToups arc to march in the samie numhber
of columns. What is the maximum number of columns in which they can
march?

Read the following passage carefully and then o
answer the questions given at the end.

30. To conduct Sports Day activities, in your
rectangular ‘shaped school ground ABCD,
lines have been drawn with chalk powder at
a distance of | m each. 100 flower pots have
been placed at a distance of | m from each
other ‘along AD, as shown in Fig, 2.

Nihaika runs th the distance AD on the
2nd line and posts a green flag. Preet runs A

[ =1

S sl Al L T OO0 T
ﬁf
T

o e,

|
IdssT80

5 th the distance AD on the eighth line and Fig. 2

posts a red flag, 3

(i) Whatis the distance between the two flags?

(1} If Rashmi has to post a blue flag exactly half way between the line
| segment joining the two flags, where should she post the blue fla g7

31. Sﬂivegraphiml]}f: 2r+3p=2, x=2yp=§ 3

-A430/1/3. 11 P.T.O.
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32. Find the zeroes of the quadratic polynomial 6.2 —3=Tx and verify the
relationship between the zerpes and the coefficients, 3

33. Three horses are tied each with 7 m long rope at three cormners of 3
Inangular field having sides 20 m, 34 m and 42 m. Find the area of the
plot which can be grazed by the horses, 3

34. Prove that the tangents drawn at the end points of a diameter of g circle
are parallel. 3

SECTION - p
Q. Nos. 35 to 40 carry 4 marks each.

35. If 4 times the 4th term of an AP 15 equal to 18 times the |8th term, then
find the 22nd term, 4
Or :

How many terms of the AP - 24, 21, 18, ... must be taken so that their sum
is 787

36. The angle of elevation of the top of a building from the foot of a tower is
30°. The angle of elevation of the top of the tower from the foot of the
building is 60°, If the tower is 60 m high, find the height of the building. 4

37, An open metal bucket is in the shape of g frustum of cone of height 21 ¢m
with radii of its lower and Upper ends are 10 em and 20 cm respectively.
Find the cost of milk which can completely fill the bucket at the rate of
T 40 per litre, 4

A solid is in the shape of a cone surmounted on a hemisphere. The radius
of each of them being 3.5 cm and the tota] height of the solid is 9.5 cm,
Find the volume of the solid,

-430/1/3, I3 A 2
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-

38. Find the mean of the following data -
Classes 0-20 | 204 4
0 | 40-60 | 60-80 | 80-
- 100 | 100-120
quency | 20 | 33 [ s2 44 7138 3l J

39. In Fig 3 DEFG is ]
« oy 4 square in 1 '
" q a tangle ABC right angled at A, Prove
(i) AAGF-a DBG i
(i) AAGF-A EFC

Fig. 3

Inano I
btuse A ABC (/B is obtuse), AD is pempendicular to CB produced
Then prove that AC? = AR2 +BC? + 2BCx BD '

40. A person on tour has % 4200 for his EXpenses. IT he extends his tour f, 3
ur
days, he has to cut down his daily expenses by T 70. Find the o5 Dr
duration of the tour, | i
4

Source: CBSE



